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Introduction
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Unempl. rate at trough = Increase inunempl. rate 8 GDP growth
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Unemployment in the Netherlands
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Market sector, growth rates
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Production growth market sector: a decomposition
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Employment growth in the market sector

Dependent variable: cyclical component employment growth

All variables: market sector only, HP-filtered

| Coefficient (t-val)

Estimation period: 1975-2008

Constant 0.00 (0.7)
Prenf_:ictiun 2009-2010 vs. Empl._cyc(-1) 0.34 (3.6)
reality: GDP_cyc 0.42 (7.7)
cumulatively 1,8%-pt lower GDP_cyc (-1) 0.27 (3.5)
level of employment

R*-adj 0.86

Cf. Mdller, 2010
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Labour hoarding (LH)

* Option value of retaining
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« Does a company want to LH? Depends on:
- production expectations (uncertainty)
- search/hireftire/training costs

» Are companies financially able to LH?
- financial huffer
- profitability of operations
- other cost saving measures

g

June 2011
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Do companies want to hoard labour ?




Production: expectations
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Beveridge curve
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Average annual growth rate structural labour supply

Years Growth rate
I

‘87-"90 2,10
‘91-'95 1.7%
‘06-'00 1.4%:
‘01-'05 1.2%
0E-"10 0.9%
11-'15* 0.4%

*Forecast {CFB, 20100}
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Survey results: reasons for LH

more work available
Cismissal is expensive/difficult

Ecorys (2010) | SCP (2011)

M 424

%% companies that LH 2009: 19
Reasons for LH

Essential employees/retaining 39
good workers

Fewer external workers suffices 22
Work in pipeline/probably soon 22

869
2010: 13
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Are companies financially capable of LH?
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